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get file = 'E:\koweps\spss\koweps hO1.sav'

/keep=h01 merkey hO1 reg5 hOl reg7 hOl din hOl cin hO1 hc h0101 1 h0101 110 h0103 4.
compute h_merkey=h01 merkey.

sort cases by h merkey.

save out="E:\koweps\spss\hO1.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h02.sav'

/keep= h02 merkey h02 reg5 h02 reg7 h02 din h02 cin h02 hc h0201 1 h0201 110 h0203 4.
compute h merkey=h02 merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h02.sav'

compressed.

/% 32} 748 T A

get file = 'E:\koweps\spss\koweps h03.sav'

/keep=h03_merkey h03 regS h03 reg7 h03 din h03 cin h03 hc h0301 1 h0301 110 h0303 4.
compute h merkey=h03 merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h03.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h04.sav'

/keep=h04 merkey h04 reg5 h04 reg7 h04 din h0O4 cin h04 hc h0401 1 h0401 110 h0403 4.
compute h merkey=h04 merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h04.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h05.sav'

/keep=h05_ merkey h05 reg5 h05 reg7 h05 din hO5 cin hO5 hc h0501 1 h0501 110 h0503 4.
compute h merkey=h05 merkey.

sort cases by h merkey.

save out= 'E:\koweps\spss\h05.sav'

compressed.

/¥ 62k 718 T ¥/

get file = 'E:\koweps\spss\koweps h06.sav'

/keep=h06 merkey h06 reg5 h06 reg7 h06 din h06 cin h06 hc h0601 1 h0601 110 h0603 4.
compute h merkey=h06 merkey.

sort cases by h merkey.

save out= 'E:\koweps\spss\h06.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h07.sav'

/keep=h07 merkey h07 reg5 h07 reg7 h07 din hO7 cin h07 hc h0701 1 h0701 110 h0703 4.
compute h merkey=h07 merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h07.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h08.sav'

/keep=h08 merkey h08 reg5 hO8 reg7 hO8 din hO8 cin hO8 hc h0801 1 h0801 110 h0803 4.
compute h merkey=h08 merkey.



sort cases by h merkey.
save out='E:\koweps\spss\h08.sav'

compressed.

/* 92k 718 T ¥/

get file = 'E:\koweps\spss\koweps h(09.sav'

/keep=h09 merkey h09 reg5 h09 reg7 h09 din h09 cin h09 hc h0901 1 h0901 110 h0903 4.
compute h merkey=h09 merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h09.sav'

compressed.

* 102} 718 778 ¥/

get file = 'E:\koweps\spss\koweps h10.sav'

/keep=h10_merkey h10 reg5 h10 reg7 h10 din h10 cin h10 hc h1001 1 h1001 110 h1003 4.
compute h merkey=h10_ merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h10.sav'

compressed.
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get file = 'E:\koweps\spss\koweps hl1.sav'

/keep=h11 merkey h11 reg5 hll reg7 hll din hll cin h11 hc h1101 1 h1101 110 h1103 4.
compute h merkey=h11 merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h11.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h12.sav'

/keep=h12_merkey h12 reg5 h12 reg7 hl12 din h12 cin h12 hc h1201 1 h1201 110 h1203 4.
compute h merkey=h12 merkey.

sort cases by h merkey.

save out='E:\koweps\spss\h12.sav'

compressed.



/*match% 83} cross-section |°o]E}Al(data) TH=7]*/

match files

/file 'E:\koweps\spss\h01.sav'
/file "E:\koweps\spss\h02.sav'
/file 'E:\koweps\spss\h03.sav'
/file 'E:\koweps\spss\h04.sav'
/file 'E:\koweps\spss\h05.sav'
/file 'E:\koweps\spss\h06.sav'
/file 'E:\koweps\spss\h07.sav'
/file '"E:\koweps\spss\h08.sav'
/file 'E:\koweps\spss\h09.sav'
/file 'E:\koweps\spss\h10.sav'
/file 'E:\koweps\spss\h11.sav'
/file 'E:\koweps\spss\h12.sav'
/by h_merkey.

exe.

save out='E:\koweps\spss\data.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h01.sav'

/keep=h01 merkey hO1 reg5 hOl reg7 hOl1 din hOl cin hO1 hc h0101 1 h0101 110 h0103 4.
rename variables (hO1 merkey=h merkey) (hOl reg5=h reg5) (hOl reg7=h reg7) (hOl din=h_din)
(hO1_cin=h_cin) (hO1 hc=h hc) (h0101 1=h fnum) (h0101 110=h_gagu) (h0103 4=h_ work).
compute time=1.

save out='E:\koweps\spss\hOla.sav'

compressed.

22k 718 T

get file = 'E:\koweps\spss\koweps h02.sav'

/keep=h02_merkey h02 reg5 h02 reg7 h02 din h02 cin h02 hc h0201 1 h0201 110 h0203 4.
rename variables (h02 merkey=h merkey) (h02 reg5=h reg5) (h02 reg7=h reg7) (h02 din=h din)
(h02 cin=h_cin) (h02 hc=h hc) (h0201 1=h fnum) (h0201 110=h_gagu) (h0203 4=h_ work).
compute time=2.

save out='E:\koweps\spss\h02a.sav'

compressed.

/* 32} 748 T K

get file = 'E:\koweps\spss\koweps h03.sav'

/keep=h03 merkey h03 reg5 h03 reg7 h03 din h03 cin h03 hc h0301 1 h0301 110 h0303 4.
rename variables (h03 merkey=h merkey) (h03 reg5=h reg5) (h03 reg7=h reg7) (h03 din=h_din)
(h03_cin=h_cin) (h03 hc=h hc) (h0301 1=h fnum) (h0301 110=h_gagu) (h0303 4=h_ work).
compute time=3.

save out='E:\koweps\spss\h03a.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h04.sav'

/keep=h04 merkey h04 reg5 h04 reg7 h04 din h0O4 cin h04 hc h0401 1 h0401 110 h0403 4.
rename variables (h0O4 merkey=h merkey) (h04 reg5=h reg5) (h04 reg7=h reg7) (h04 din=h_din)
(h04 cin=h _cin) (h04 hc=h hc) (h0401 1=h fnum) (h0401 110=h_gagu) (h0403 4=h work).
compute time=4.

save out='E:\koweps\spss\hO4a.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h05.sav'

/keep=h05_merkey h05 reg5 h05 reg7 h05 din hO5 cin hO5 hc h0501 1 h0501 110 h0503 4.
rename variables (hO5 merkey=h merkey) (hO5 reg5=h reg5) (h05 reg7=h reg7) (hO5 din=h_din)
(hO5_cin=h_cin) (h05 hc=h_hc) (h0501 I=h fnum) (h0501 110=h_gagu) (h0503 4=h work).
compute time=5.

save out= 'E:\koweps\spss\hO5a.sav'

compressed.

/% 62} 748 T H

get file = 'E:\koweps\spss\koweps h06.sav'

/keep=h06_merkey h06 reg5 h06 reg7 h06 din h06 cin h06 hc h0601 1 h0601 110 h0603 4.
rename variables (h06 merkey=h merkey) (h06 reg5=h reg5) (h06 reg7=h reg7) (h06 din=h_din)
(h06_cin=h_cin) (h06 hc=h hc) (h0601 1=h fnum) (h0601 110=h_gagu) (h0603 4=h work).
compute time=6.

save out= 'E:\koweps\spss\hO6a.sav'

compressed.

* TR 7R T K

get file = 'E:\koweps\spss\koweps h07.sav'

/keep=h07 merkey h07 reg5 h07 reg7 h07 din hO7 cin h07 hc h0701 1 h0701 110 h0703 4.
rename variables (hO7 merkey=h merkey) (hO7 reg5=h reg5) (h07 reg7=h reg7) (h07 din=h_din)
(h07_cin=h_cin) (h07 hc=h_hc) (h0701 I1=h fnum) (h0701 110=h_gagu) (h0703 4=h work).
compute time=7.

save out='E:\koweps\spss\hO7a.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h08.sav'

/keep=h08 merkey h08 reg5 h08 reg7 h08 din h08 cin hO8 hc h0801 1 h0801 110 h0803 4.
rename variables (hO8 merkey=h merkey) (hO8 reg5=h reg5) (hO8 reg7=h reg7) (h08 din=h_din)
(hO8_cin=h_cin) (h08 hc=h hc) (h0801 1=h fnum) (h0801 110=h_gagu) (h0803 4=h work).
compute time=8.

save out='E:\koweps\spss\h08a.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h(09.sav'

/keep=h09 merkey h09 reg5 h09 reg7 h09 din h09 cin h09 hc h0901 1 h0901 110 h0903 4.
rename variables (h09 merkey=h merkey) (h09 reg5=h reg5) (h09 reg7=h reg7) (h09 din=h_din)
(h09_cin=h_cin) (h09 hc=h hc) (h0901 1=h fnum) (h0901 110=h_gagu) (h0903 4=h work).
compute time=9.

save out='E:\koweps\spss\h09a.sav'

compressed.

/* 102F 78 773 ¥/

get file = 'E:\koweps\spss\koweps h10.sav'

/keep=h10_merkey h10 reg5 h10 reg7 h10 din h10 cin h10 hc h1001 1 h1001 110 h1003 4.
rename variables (h10 merkey=h merkey) (h10 reg5=h reg5) (h10 reg7=h reg7) (h10 din=h_din)
(h10_cin=h _cin) (h10 _hc=h hc) (h1001 I=h faum) (h1001 110=h_gagu) (h1003 4=h work).
compute time=10.

save out='E:\koweps\spss\h10a.sav'

compressed.
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get file = 'E:\koweps\spss\koweps hl1.sav'

/keep=h11 merkey h11 reg5 hll reg7 hll din hll cin h11 hc h1101 1 h1101 110 h1103 4.
rename variables (hl1 _merkey=h merkey) (h11 reg5=h reg5) (hl1 _reg7=h reg7) (hl1 _din=h_din)
(h11_cin=h _cin) (h11_hc=h hc) (h1101 1=h fnum) (h1101 _110=h_gagu) (h1103_4=h_ work).
compute time=11.

save out='E:\koweps\spss\hlla.sav'

compressed.
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get file = 'E:\koweps\spss\koweps h12.sav'

/keep=h12_merkey h12 reg5 h12 reg7 hl12 din h12 cin h12 hc h1201 1 h1201 110 h1203 4.
rename variables (h12 merkey=h merkey) (h12 reg5=h reg5) (h12 reg7=h reg7) (h12 din=h din)
(h12_cin=h cin) (h12 hc=h hc) (h1201 1=h fnum) (h1201 110=h_gagu) (h1203 4=h work).
compute time=12.

save out='E:\koweps\spss\h12a.sav'

compressed.
/*add TS B85 long-type Ho|E|A(data_a) THE7|*/

/file 'E:\koweps\spss\hOla.sav'
/file 'E:\koweps\spss\h02a.sav'
/file 'E:\koweps\spss\h03a.sav'
/file 'E:\koweps\spss\h04a.sav'
/file 'E:\koweps\spss\h05a.sav'
/file 'E:\koweps\spss\hO6a.sav'
/file 'E:\koweps\spss\h0Q7a.sav'
/file 'E:\koweps\spss\h08a.sav'
/file 'E:\koweps\spss\h09a.sav'
/file 'E:\koweps\spss\h10a.sav'
/file 'E:\koweps\spss\hlla.sav'
/file 'E:\koweps\spss\h12a.sav'.
exe.

save out='E:\koweps\spss\data a.sav'

compressed.



